
<!DOCTYPE html>
<html>
<head>

<link rel="stylesheet" href="style.css" type="text/css" media="screen" />

</head>
<body>

<div id="bad"> 
<a href="content.html">bad</a></div>

<div id="boot"> 
<a href="inhoud.html">boot</a></div>

<span class="dropt">Bathboat by Wieki Somers
  <span><img src="Badboot700.jpg"/></span>
</span>

<div id="text"> 
<p>My reproduction of the artwork 'badboot' by Wieki Somers is a series of pictures that contain an un-
inflated inflatable boat. There are two series, one for the bath and one for the boat.In these photographs I 
try to show elements that are a part of the bath and the boat and to show how they are different from each 

body{
 background-color: white;
 font-family: plantin,serif,monospace;
 }

#bad a{
 font-size: 160px;
 text-decoration: none;
 color: #02aaf9;
 position: fixed;
 margin-left: 23vw;
 margin-top: 18vw;

 
}

#boot a{
 font-size: 160px;
 text-decoration: none;
 color: #02aaf9;
 position: fixed;
 margin-left: 50vw;
 margin-top: 18vw;
 
}

 #boot a:hover{color: white;}
 #bad a:hover{color: white;}

span.dropt {color:#02aaf9;
 position: fixed;
 margin-left: 39.5vw;
 margin-top: 12vw;
 font-size: 15px;
}

span.dropt:hover span {right: 1%; } 
span.dropt span {position: absolute; right: -9999px;
} 

span.dropt:hover span {margin: 30px 0 0 900px;} 

#text {
 color: #02aaf9;
 position: fixed;
 margin-left: 39.5vw;
 margin-top: 30vw;
 font-size: 15px;
}

<!DOCTYPE html>
<html>
<head>

<link rel="stylesheet" href="inhoudstyle.css" type="text/css" media="screen" />

</head>
<body>

<span id="terug"> 
<a href="index.html"><i>back<i></a></span>

<span id="badterug"> 
<a href="content.html"><i>bad<i></a></span>

<div id="boot"> 
<img src="boot.jpg" alt="boot" width="400" height="400"></div>

<div id="rijden"> 
<img src="rijden.jpg" alt="rijden"  height="500"></div>

<div id="sgaduw"> 
<img src="sgaduw.jpg" alt="schaduw" height="400"></div>

<div id="verstopt"> 
<img src="verstopt.jpg" alt="verstopt"  height="350"></div>

<div id="veel"> 
<img src="veel.jpg" alt="veel" width="480" ></div>

<div id="lig"> 
<img src="ligplek.jpg" alt="lig" width="400" ></div>

<div id="wit"> 
<img src="wit.jpg" alt="wit" width="70" height="500"></div>

</body>
</html>

body{
 color: #02aaf9;
 font-family: plantin,serif,monospace;
}

#blaasbad {
 position: absolute;
 margin-left: 7vw;
 margin-top: 8vw;
 
}

#terug a {
 text-decoration: none;
 position: fixed;
 top: 2.5vw;
 left: 10vw;
 color: #02aaf9;
 font-size: 20px;
}

#bootterug a {
 text-decoration: none;
 position: fixed;
 top: 2.5vw;
 left: 85vw;
 color: #02aaf9;
 font-size: 20px;
}

#water {
 position: absolute;
 margin-left: 60vw;
 margin-top: 5vw;
 
}

#schaduw {
 position: absolute;
 margin-left: 100vw;
 margin-top: 13vw;
 
}

#woman {
 position: absolute;
 margin-left: 140vw;
 margin-top: 5vw;
 
}

#wit {
 position: absolute;
 margin-left: 210vw;
 margin-top: 3vw;
 
}
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<!DOCTYPE html>
<html>
<head>

<link rel="stylesheet" href="contentstyle.css" type="text/css" media="screen" />

</head>
<body>

<div id="blaasbad"> 
<img src="blaasbad800.jpg" alt="blaasbad" width="600" height="450"></div>

<span id="terug"> 
<a href="index.html"><i>back<i></a></span>

<span id="bootterug"> 
<a href="inhoud.html"><i>boot<i></a></span>

<div id="schaduw"> 
<img src="schaduw.jpg" alt="schaduw" width="420" height="420"></div>

<div id="woman"> 
<img src="woman800.jpg" alt="woman" width="700" height="466"></div>

<div id="water"> 
<img src="water.jpg" alt="water" width="400" height="400"></div>

<div id="wit"> 
<img src="wit.jpg" alt="wit" width="100" height="500"></div>

</body>
</html>

bad boot


